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(Write your Roll No. on the top immediately on receipt of this question paper.)
AT AT T &I T 38 TA-T % 307 G&ha AT fgeal AT SRS T wa Arar | 24 |

Note: Unless otherwise required in a question, answers should be written either in Sanskrit or in

Hindi or in English.

1. =2 el ST &1 97 9Ta: 07 Fsiah 28 e (919 987) 9% ol 2 oi¥ 39 fa &1 gaiag

FT 06 Tt 22 THee (AT 997) 21 a7 TR Fe1-9 § aare0 | 8
If a child is born at 07.28 A.M. (S.T.) at morning and time of the sunrise is 06 hrs. 22 minutes
(S.T.),find the Ishtakala in ghati-palas.

(3raram)/Or
7T dRFET 0F  00-19-39-25” AT & 15-19 TAT S il <7 T 52°-55” BT T TTC F H(
e Frfr |

Calculate the true longitude of Venus. If venus (Panktistha) is 00-19-39’-25”, Calana 15-19(Plus)
and direct Venus’s daily motion is 52°-55”.

2. IfT STaH T ST TG Q@T-HIAFT I 21 7 019 $fT FHNT 57 =T 25 9 & T 975 €7
s 8

Calculate the true longitude of Moon if birth asterism of a native is Purva-Falguni, Bhayata is 21
ghatis 01 Palas and bhabhoga is 57 ghatis 25 palas.

(3reaT) /Or
TN GTET T eqd STg<0T § L0 TH-HTe T T HIT |
Explain the finding of ‘TR¥=vT- 7’ by ‘T&AT conceiving your own example.

3. 20 wEEET 2019 FT FIATIT AT FIorT, 20 FXE<T 2019 F7 °Ta: 05-30 I+

¥ g - 10-07-31-43". 8
Calculate the Ayanamsa of 20th February 2019, the Sun’s longitude on20th February
at 05:30 A.M. is 10-07-31°-43".

(3rearT) / Or
FARTTd IRTELT & (HEAT T9H-AF ATEH Fl T HIT |
Explain the finding of Nirayana Dashama-Lagna by conceiving your own example.

4, TERTO-FUSAT HHTIT T FFR(cTT IITGL0T FILT T I | 10
Explain the making of W—@Wﬁﬁ ” by conceiving your own example.



(3ram) /Or

T 77 03-13-18’-41”, 7919 7 00-07-54'-36” T AT TEHIAZTGITATT T FIT |
If ascendant is 03-13-18’-41”,the tenth ascendant is 00-07-54-36” then

explain the’ TETAGTIANT .

5. TN - T I FheTd IETELW ShT T (T |
Explain ‘$TSISI<Y - 9T by conceiving your own example.

(37=T)/Or
YT T IITELT Aigd €I FITorT |
Elucidate “T=r&ma=i=’ with example.

6. Maferfea & & gl = o= fooqoft forfe, fme & uw gepq 5 27

Write short notes on any four of the following one being in Sanskrit:

(i) TAATIA -FEAT (Navamansh-Kundali)

(ii) weT-f=Te (Bhadra-Vichar)

(iii) 9T (palabha)

(iv) Tg3g- 0= A9 (Graha Uccha-Nicha Vibhag)
(v) L ELERUE (Muddadasha)

(vi) ST (Dinmana)

7X4=28



